P - Primary Award S - Secondary Award A - Alternate Award	Associated Supply Company Euless, TX						
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.	HU	JB:	N	No			
** Wildcat Cranes deemed non-responsive for failure to complete required price form.	Co-	Co-op:		es			
Description	Rental Period	QTY.	Unit Rate	Total Charge			
Section 1: Heavy Duty Equipment				•			
Item 1: Steel Pad Foot; 84 inch; 23,000 lbs.	Daily	3 Days	\$7,000.00	\$2,100.00			
Hamm 3401PD or Approved Equal	Weekly	2 Weeks	\$1,900.00	\$3,800.00			
	Monthly	1 Month	\$5,200.00	\$5,200.00			
	Delivery/ Pi	ckup Roundtrip	\$300.00				
		Total	\$11,4	100.00			
Brand Model of Equipment Bid:		Case SV2	11 SV213				
Compactions Width:		83.9 li	nches				
Operating Weight:		26,860 and	25,860 Lbs.				
Item 2: Steel Double Drum Roller	Daily	3 Days	\$500.00	\$1,500.00			
Hamm HD-13 or Approved Equal	Weekly	2 Weeks	\$2,000.00	\$4,000.00			
	Monthly	1 Month	\$4,500.00	\$4,500.00			
	Delivery/ Pickup Round To		Delivery/ Pickup Roundtrip \$30		\$30	0.00	
			\$10,3	300.00			
Brand Model of Equipment Bid:		Case	DV45				
Compactions Width:		52.	.2"				
Operating Weight:		10,340	D Lbs.	10,340 Lbs.			

P - Primary Award S - Secondary Award A - Alternate Award	HercRentals Inc. Fort Worth, TX				
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.	HU	JB:	N	lo	
** Wildcat Cranes deemed non-responsive for failure to complete required price form.	Со-ор:		Y	es	
Description	Rental Period	QTY.	Unit Rate	Total Charge	
Section 1: Heavy Duty Equipment					
Item 1: Steel Pad Foot; 84 inch; 23,000 lbs.	Daily	3 Days	\$563.00	\$1,689.00	
Hamm 3401PD or Approved Equal	Weekly	2 Weeks	\$1,407.00	\$2,814.00	
	Monthly	1 Month	\$3,087.00	\$3,087.00	
	Delivery/ Pi	ckup Roundtrip	\$35	\$350.00	
		Total	P - \$7	940.00	
Brand Model of Equipment Bid:		VOLVO	SD75B		
Compactions Width:		66 In	ches		
Operating Weight:		16,00	0 Lbs		
Item 2: Steel Double Drum Roller	Daily	3 Days	\$468.00	\$1,404.00	
Hamm HD-13 or Approved Equal	Weekly	2 Weeks	\$1,145.00	\$2,290.00	
	Monthly	1 Month	\$2,609.00	\$2,609.00	
	Delivery/ Pickup Roundtrip		\$35	0.00	
	Total A - \$6,653.00			,653.00	
Brand Model of Equipment Bid:	VOLVO SD45				
Compactions Width:		54 In	ches		
Operating Weight:	10,000 Lbs				

P - Primary Award S - Secondary Award A - Alternate Award	Kirby-Smith Machinery Fort Worth, TX				
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.	HUB:		No		
** Wildcat Cranes deemed non-responsive for failure to complete required price form.	Co-	Со-ор:		es	
Description	Rental Period	QTY.	Unit Rate	Total Charge	
Section 1: Heavy Duty Equipment					
Item 1: Steel Pad Foot; 84 inch; 23,000 lbs.	Daily	3 Days	\$580.00	\$1,740.00	
Hamm 3401PD or Approved Equal	Weekly	2 Weeks	\$1,560.00	\$3,120.00	
	Monthly	1 Month	\$4,200.00	\$4,200.00	
	Delivery/ Pio	kup Roundtrip	500/500		
		Total	S - \$10,600.00		
Brand Model of Equipment Bid:		HAMM	3410P		
Compactions Width:		7 F	oot		
Operating Weight:		26,5	585		
Item 2: Steel Double Drum Roller	Daily	3 Days	\$330.00	\$990.00	
Hamm HD-13 or Approved Equal	Weekly	2 Weeks	\$880.00	\$1,760.00	
	Monthly	1 Month	\$2,350.00	\$2,350.00	
	Delivery/ Picku	ıp Roundtrip	350	/350	
	Total P - \$5800.00			800.00	
Brand Model of Equipment Bid:	HAMM HD13				
Compactions Width:	4'3"				
Operating Weight:	8740				

P - Primary Award S - Secondary Award A - Alternate Award	ROMCO Equipment Fort Worth, TX				
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.	HU	JB:	1	No	
** Wildcat Cranes deemed non-responsive for failure to complete required price form.	Co-	Со-ор:		es	
Description	Rental Period	QTY.	Unit Rate	Total Charge	
Section 1: Heavy Duty Equipment					
Item 1: Steel Pad Foot; 84 inch; 23,000 lbs.	Daily	3 Days	\$540.00	\$1,620.00	
Hamm 3401PD or Approved Equal	Weekly	2 Weeks	\$1,620.00	\$3,240.00	
	Monthly	1 Month	\$4,860.00	\$4,860.00	
	Delivery/ Pi	ckup Roundtrip	\$1,400.00		
		Total	\$11,120.00		
Brand Model of Equipment Bid:		Volvo SI	D115PF		
Compactions Width:		84 In	ches		
Operating Weight:		25,6	614		
Item 2: Steel Double Drum Roller	Daily	3 Days	\$280.00	\$840.00	
Hamm HD-13 or Approved Equal	Weekly	2 Weeks	\$840.00	\$1,680.00	
	Monthly	1 Month	\$2,520.00	\$2,520.00	
	Delivery/ Pic	kup Roundtrip	\$1,4	00.00	
	Total S			440.00	
Brand Model of Equipment Bid:		Volvo	DD35		
Compactions Width:		54	.1		
Operating Weight:		8185			

P - Primary Award S - Secondary Award A - Alternate Award	Star Tractor Ltd. Fort Worth, TX				
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.	HU	JB:	١	No	
** Wildcat Cranes deemed non-responsive for failure to complete required price form.	Co-	Со-ор:		es	
Description	Rental Period	QTY.	Unit Rate	Total Charge	
Section 1: Heavy Duty Equipment					
Item 1: Steel Pad Foot; 84 inch; 23,000 lbs.	Daily	3 Days	\$600.00	\$1,800.00	
Hamm 3401PD or Approved Equal	Weekly	2 Weeks	\$1,800.00	\$3,600.00	
	Monthly	1 Month	\$4,500.00	\$4,500.00	
	Delivery/ Pi	ckup Roundtrip	\$1,000.00		
		Total	A - \$10,900.00		
Brand Model of Equipment Bid:		Dynapac C	CA2500PD		
Compactions Width:		84 In	ches		
Operating Weight:		24,3	300		
Item 2: Steel Double Drum Roller	Daily	3 Days	No Bid	No Bid	
Hamm HD-13 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid	
	Monthly	1 Month	No Bid	No Bid	
	Delivery/ Pi	ckup Roundtrip	No	Bid	
	Total No E			Bid	
Brand Model of Equipment Bid:		No	Bid		
Compactions Width:		No	Bid		
Operating Weight:		No Bid			

P - Primary Award S - Secondary Award A - Alternate Award	Associated Supply Company Euless, TX			
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.  ** Wildcat Cranes deemed non-responsive for failure to complete	HU	JB:	N	lo
required price form.	Co-op:		Y	es
Description	Rental Period	QTY.	Unit Rate	Total Charge
Section 1: Heavy Duty Equipment				
Item 3: Compactor; Single Drum 66 inch; 15,000 lbs.	Daily	3 Days	\$600.00	\$1,800.00
Dynapac CA1500 D/PD or Approved Equal	Weekly	2 Weeks	\$1,575.00	\$3,150.00
	Monthly	1 Month	\$4,210.00	\$4,210.00
	Delivery/ Pickup Roundtrip		\$300.00	
		Total	A - \$9,460.00	
Brand Model of Equipment Bid:	Case SV208			
Compactions Width:		66	) "	
Operating Weight:		15,1	170	
Item 4: Excavator; Truck Mounted with Telescopic Boom; 4 X 2	Daily	3 Days	\$2,275.00	\$6,825.00
Gradall XL-3100 or Approved Equal	Weekly	2 Weeks	\$5,880.00	\$11,760.00
	Monthly	1 Month	\$13,250.00	\$13,250.00
	Delivery/ Pic	kup Roundtrip	\$80	0.00
		Total	S - \$32	,635.00
Brand Model of Equipment Bid:		Gradall )	KL-3100	
Item 5: Shooting Boom Forklift	Daily	3 Days	\$915.00	\$2,745.00
SkyTrak Telehandler or Approved Equal	Weekly	2 Weeks	\$2,100.00	\$4,200.00
	Monthly	1 Month	\$4,630.00	\$4,630.00
	Delivery/ Pickup Roundtrip \$300.00			0.00
	Total S - \$11,875.00			,875.00
Brand Model of Equipment Bid:		JLG 1	0054	
Operating Weight:		28,20	0 Lbs	

P - Primary Award S - Secondary Award A - Alternate Award	HercRentals Inc. Fort Worth, TX			
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.  ** Wildcat Cranes deemed non-responsive for failure to complete	HUB:		No	
required price form.	Co-	Co-op:		'es
Description	Rental Period	QTY.	Unit Rate	Total Charge
Section 1: Heavy Duty Equipment				
Item 3: Compactor; Single Drum 66 inch; 15,000 lbs.	Daily	3 Days	No Bid	No Bid
Dynapac CA1500 D/PD or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pickup Roundtrip		No Bid	
		Total	No Bid	
Brand Model of Equipment Bid:	No Bid			
Compactions Width:		No	Bid	
Operating Weight:		No	Bid	
Item 4: Excavator; Truck Mounted with Telescopic Boom; 4 X 2	Daily	3 Days	No Bid	No Bid
Gradall XL-3100 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pic	ckup Roundtrip	No	Bid
		Total	No	Bid
Brand Model of Equipment Bid:		No	Bid	
Item 5: Shooting Boom Forklift	Daily	3 Days	No Bid	No Bid
SkyTrak Telehandler or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pickup Roundtrip No		Bid	
		Total	No	Bid
Brand Model of Equipment Bid:	No Bid			
Operating Weight:	No Bid			

P - Primary Award S - Secondary Award A - Alternate Award	Kirby-Smith Machinery Fort Worth, TX					
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.  ** Wildcat Cranes deemed non-responsive for failure to complete	HUB:		HUB:		N	lo
required price form.	Co-	op:	Y	es		
Description	Rental Period	QTY.	Unit Rate	Total Charge		
Section 1: Heavy Duty Equipment						
Item 3: Compactor; Single Drum 66 inch; 15,000 lbs.	Daily	3 Days	\$480.00	\$1,440.00		
Dynapac CA1500 D/PD or Approved Equal	Weekly	2 Weeks	\$1,290.00	\$2,580.00		
	Monthly	1 Month	\$3,460.00	\$3,460.00		
	Delivery/ Pickup Roundtrip		450	/450		
		Total	S - \$8,340.00			
Brand Model of Equipment Bid:		HAMN	1H7IP			
Compactions Width:		5"	6"			
Operating Weight:		14, 1	130			
Item 4: Excavator; Truck Mounted with Telescopic Boom; 4 X 2	Daily	3 Days	\$1,690.00	\$5,070.00		
Gradall XL-3100 or Approved Equal	Weekly	2 Weeks	\$4,540.00	\$9,080.00		
	Monthly	1 Month	\$12,250.00	\$12,250.00		
	Delivery/ Picki	ıp Roundtrip	500	/500		
		Total	P - \$27	,400.00		
Brand Model of Equipment Bid:		Gradall	XL-3100			
Item 5: Shooting Boom Forklift	Daily	3 Days	\$550.00	\$1,650.00		
SkyTrak Telehandler or Approved Equal	Weekly	2 Weeks	\$1,470.00	\$2,940.00		
	Monthly	1 Month	\$3,950.00	\$3,950.00		
	Delivery/ Picki	ıp Roundtrip	450	/450		
	Total P - \$9,440.00			440.00		
Brand Model of Equipment Bid:		Skytral	k10042			
Operating Weight:		24,	500	-		

P - Primary Award S - Secondary Award A - Alternate Award	ROMCO Equipment Fort Worth, TX			
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.  ** Wildcat Cranes deemed non-responsive for failure to complete	HUB:		No	
required price form.	Co-	op:	Y	´es
Description	Rental Period	QTY.	Unit Rate	Total Charge
Section 1: Heavy Duty Equipment				
Item 3: Compactor; Single Drum 66 inch; 15,000 lbs.	Daily	3 Days	\$450.00	\$1,350.00
Dynapac CA1500 D/PD or Approved Equal	Weekly	2 Weeks	\$1,350.00	\$2,700.00
	Monthly	1 Month	\$4,050.00	\$4,050.00
	Delivery/ Pickup Roundtrip		\$1,400.00	
	Total		\$9,500.00	
Brand Model of Equipment Bid:	Volvo			
Compactions Width:	66 "			
Operating Weight:		15,6	600	
Item 4: Excavator; Truck Mounted with Telescopic Boom; 4 X 2	Daily	3 Days	No Bid	No Bid
Gradall XL-3100 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pi	ckup Roundtrip	No	Bid
		Total	No	Bid
Brand Model of Equipment Bid:		No	Bid	
Item 5: Shooting Boom Forklift	Daily	3 Days	No Bid	No Bid
SkyTrak Telehandler or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pickup Roundtrip		No	Bid
	Total No Bid			Bid
Brand Model of Equipment Bid:		No		
Operating Weight:		No	Bid	

P - Primary Award S - Secondary Award A - Alternate Award	Star Tractor Ltd. Fort Worth, TX				
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.  ** Wildcat Cranes deemed non-responsive for failure to complete	HUB:		N	lo	
required price form.	Co-op:		Y	es	
Description	Rental Period	QTY.	Unit Rate	Total Charge	
Section 1: Heavy Duty Equipment					
Item 3: Compactor; Single Drum 66 inch; 15,000 lbs.	Daily	3 Days	\$400.00	\$1,200.00	
Dynapac CA1500 D/PD or Approved Equal	Weekly	2 Weeks	\$1,200.00	\$2,400.00	
	Monthly	1 Month	\$3,000.00	\$3,000.00	
	Pelivery/ Pickup Roundtrip		\$900.00		
		Total			
Brand Model of Equipment Bid:		Dynapac	CA150D		
Compactions Width:		66	6"		
Operating Weight:		15,0	000		
Item 4: Excavator; Truck Mounted with Telescopic Boom; 4 X 2	Daily	3 Days	No Bid	No Bid	
Gradall XL-3100 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid	
	Monthly	1 Month	No Bid	No Bid	
	Delivery/ Pic	ckup Roundtrip	No	Bid	
		Total	No	Bid	
Brand Model of Equipment Bid:		No	Bid		
Item 5: Shooting Boom Forklift	Daily	3 Days	No Bid	No Bid	
SkyTrak Telehandler or Approved Equal	Weekly	2 Weeks	No Bid	No Bid	
	Monthly	1 Month	No Bid	No Bid	
	Delivery/ Pic	ckup Roundtrip	No	Bid	
		Total	No	Bid	
Brand Model of Equipment Bid:		No	Bid		
Operating Weight:		No	Bid		

P - Primary Award S - Secondary Award A - Alternate Award	Associated Supply Company Euless, TX				
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.	HU	IB:	1	No	
** Wildcat Cranes deemed non-responsive for failure to complete required price form.	Со-ор:		Y	es	
Description	Rental Period	QTY.	Unit Rate	Total Charge	
Section 2: Light Duty Equipment					
Item 1: Air Scrubber	Daily	3 Days	No Bid	No Bid	
Abatement PAS2400 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid	
	Monthly	1 Month	No Bid	No Bid	
	Delivery/ Pic	ckup Roundtrip	No	No Bid	
		Total	No Bid		
Brand Model of Equipment Bid:		No	Bid		
Item 2: Generator; Diesel; 1000KW	Daily	3 Days	No Bid	No Bid	
MultiQuip DCA125 USI or Approved Equal	Weekly	2 Weeks	No Bid	No Bid	
	Monthly	1 Month	No Bid	No Bid	
	Delivery/ Pic	ckup Roundtrip	No	Bid	
		Total	No	Bid	
Brand Model of Equipment Bid:		No	Bid		
Item 3: Message Sign; Trailer Mounted	Daily	3 Days	No Bid	No Bid	
Wanco WTMMB or Approved Equal	Weekly	2 Weeks	No Bid	No Bid	
	Monthly	1 Month	No Bid	No Bid	
	Delivery/ Pickup Roundtrip No Bid			Bid	
	Total No Bid			Bid	
Brand Model of Equipment Bid:		No	Bid		

P - Primary Award S - Secondary Award A - Alternate Award	HercRentals Inc. Fort Worth, TX			
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.	HU	JB:	Ν	lo
** Wildcat Cranes deemed non-responsive for failure to complete required price form.	Co-op:		Υ	es
Description	Rental Period	QTY.	Unit Rate	Total Charge
Section 2: Light Duty Equipment				
Item 1: Air Scrubber	Daily	3 Days	No Bid	No Bid
Abatement PAS2400 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pi	ckup Roundtrip	No	Bid
		Total	No Bid	
Brand Model of Equipment Bid:		No	Bid	
Item 2: Generator; Diesel; 1000KW	Daily	3 Days	\$2,268.00	\$6,804.00
MultiQuip DCA125 USI or Approved Equal	Weekly	2 Weeks	\$5,846.00	\$11,692.00
	Monthly	1 Month	\$17,325.00	\$17,325.00
	Delivery/ Picki	up Roundtrip	\$35	0.00
		Total	P - \$36	,171.00
Brand Model of Equipment Bid:		Cummins	C10000D6	
Item 3: Message Sign; Trailer Mounted	Daily	3 Days	\$221.00	\$663.00
Wanco WTMMB or Approved Equal	Weekly	2 Weeks	\$780.00	\$1,560.00
	Monthly	1 Month	\$1,092.00	\$1,092.00
	Delivery/ Pickup Roundtrip \$350.00			0.00
		Total	P - \$3,	665.00
Brand Model of Equipment Bid:		WANCO V	VTMMB-A	

P - Primary Award S - Secondary Award A - Alternate Award	Kirby-Smith Machinery Fort Worth, TX			
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.  ** Wildcat Cranes deemed non-responsive for failure to complete	HUB:		No	
required price form.	Со-ор:		Yes	
Description	Rental Period	QTY.	Unit Rate	Total Charge
Section 2: Light Duty Equipment				
Item 1: Air Scrubber	Daily	3 Days	No Bid	No Bid
Abatement PAS2400 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pi	ckup Roundtrip	No Bid	
	Total		No Bid	
Brand Model of Equipment Bid:	No Bid			
Item 2: Generator; Diesel; 1000KW	Daily	3 Days	No Bid	No Bid
MultiQuip DCA125 USI or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pic	ckup Roundtrip	No	Bid
		Total	No Bid	
Brand Model of Equipment Bid:	No Bid			
Item 3: Message Sign; Trailer Mounted	Daily	3 Days	No Bid	No Bid
Wanco WTMMB or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pickup Roundtrip No Bid		Bid	
	Total No Bid		Bid	
Brand Model of Equipment Bid:	No Bid			

P - Primary Award S - Secondary Award A - Alternate Award	ROMCO Equipment Fort Worth, TX			
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.	HUB:		No	
** Wildcat Cranes deemed non-responsive for failure to complete required price form.	Co-op:		Yes	
Description	Rental Period	QTY.	Unit Rate	Total Charge
Section 2: Light Duty Equipment		•		
Item 1: Air Scrubber	Daily	3 Days	No Bid	No Bid
Abatement PAS2400 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pic	ckup Roundtrip	No Bid	
		Total	No	Bid
Brand Model of Equipment Bid:	No Bid			
Item 2: Generator; Diesel; 1000KW	Daily	3 Days	No Bid	No Bid
MultiQuip DCA125 USI or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pic	ckup Roundtrip	No	Bid
		Total	No	Bid
Brand Model of Equipment Bid:	No Bid			
Item 3: Message Sign; Trailer Mounted	Daily	3 Days	No Bid	No Bid
Wanco WTMMB or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pickup Roundtrip		No Bid	
	• • •		No	Bid
Brand Model of Equipment Bid:		No	Bid	

P - Primary Award S - Secondary Award A - Alternate Award	Star Tractor Ltd. Fort Worth, TX			
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.  ** Wildcat Cranes deemed non-responsive for failure to complete	HUB:		No	
required price form.	Со-ор:		Yes	
Description	Rental Period	QTY.	Unit Rate	Total Charge
Section 2: Light Duty Equipment				
Item 1: Air Scrubber	Daily	3 Days	No Bid	No Bid
Abatement PAS2400 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pi	ckup Roundtrip	No Bid	
	Total		No Bid	
Brand Model of Equipment Bid:	No Bid			
Item 2: Generator; Diesel; 1000KW	Daily	3 Days	No Bid	No Bid
MultiQuip DCA125 USI or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pic	ckup Roundtrip	No	Bid
		Total	No	Bid
Brand Model of Equipment Bid:	No Bid			
Item 3: Message Sign; Trailer Mounted	Daily	3 Days	No Bid	No Bid
Wanco WTMMB or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pickup Roundtrip No Bid		Bid	
	Total No Bid		Bid	
Brand Model of Equipment Bid:	No Bid			

P - Primary Award S - Secondary Award A - Alternate Award	Associated Supply Company Euless, TX			
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.  ** Wildcat Cranes deemed non-responsive for failure to complete required price form.	HUB:		No	
	Co-op:		Yes	
Description	Rental Period	Rental Period QTY.		Total Charge
Section 2: Light Duty Equipment				•
Item 4: Walk Behind Trencher 24"	Daily	3 Days	No Bid	No Bid
Ditch Witch #1030 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pi	Delivery/ Pickup Roundtrip		Bid
		Total	No Bid	
Brand Model of Equipment Bid:	No Bid			
Item 5: Towable Pressure Washer	Daily	3 Days	No Bid	No Bid
Mi-T-M AW-9000900021 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pickup Roundtrip Total		No Bid	
			No Bid	
Brand Model of Equipment Bid:	No Bid			
Discount off for itmes not specified:	0%			

Primary Award: HercRentals, Inc., Kirby-Smith Machinery,

Star Tractor Ltd.

Secondary Award: Associated Supply Company, Kirby-Smith

Machinery, ROMCO Equipment Co, LLC

Alternate Award: Associated Supply Company, HercRentals,

<b>P - Primary Award</b> S - Secondary Award A - Alternate Award	HercRentals Inc. Fort Worth, TX			
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.	HUB:		No	
** Wildcat Cranes deemed non-responsive for failure to complete required price form.	Co-op:		Yes	
Description	Rental Period	QTY.	Unit Rate	Total Charge
Section 2: Light Duty Equipment				
Item 4: Walk Behind Trencher 24"	Daily	3 Days	\$194.00	\$582.00
Ditch Witch #1030 or Approved Equal	Weekly	2 Weeks	\$572.00	\$1,144.00
	Monthly	1 Month	\$1,004.00	\$1,004.00
	Delivery/ Picki	up Roundtrip	\$350.00	
		Total	P - \$3,080.00	
Brand Model of Equipment Bid:		Ditchwitch C16X		
Item 5: Towable Pressure Washer	Daily	3 Days	No Bid	No Bid
Mi-T-M AW-9000900021 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pickup Roundtrip No Bid			Bid
	Total No Bid			Bid
Brand Model of Equipment Bid:	No Bid			
Discount off for itmes not specified:	10 % off daily rate, 15% off weekly rate, 20% off monthly rate			

Primary Award: HercRentals, Inc., Kirby-Smith Machinery,

Star Tractor Ltd.

Secondary Award: Associated Supply Company, Kirby-Smith

Machinery, ROMCO Equipment Co, LLC

Alternate Award: Associated Supply Company, HercRentals,

P - Primary Award S - Secondary Award A - Alternate Award	Kirby-Smith Machinery Fort Worth, TX			
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid. ** Wildcat Cranes deemed non-responsive for failure to complete required price form.	HUB:		No	
	Co-op:		Yes	
Description	Rental Period	Rental Period QTY.		Total Charge
Section 2: Light Duty Equipment				
Item 4: Walk Behind Trencher 24" Ditch Witch #1030 or Approved Equal	Daily	3 Days	\$200.00	NB
	Weekly	2 Weeks	\$520.00	NB
	Monthly	1 Month	\$1,400.00	NB
	Delivery/ Pi	ckup Roundtrip	NB	
		Total	*\$3040.00	
Brand Model of Equipment Bid:	Bomag BMP8500			
Item 5: Towable Pressure Washer	Daily	3 Days	No Bid	No Bid
Mi-T-M AW-9000900021 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pickup Roundtrip No Bi			Bid
	Total		No Bid	
Brand Model of Equipment Bid:	No Bid			
Discount off for itmes not specified:	10%			

Primary Award: HercRentals, Inc., Kirby-Smith Machinery,

Star Tractor Ltd.

Secondary Award: Associated Supply Company, Kirby-Smith

Machinery, ROMCO Equipment Co, LLC

Alternate Award: Associated Supply Company, HercRentals,

P - Primary Award S - Secondary Award A - Alternate Award	ROMCO Equipment Fort Worth, TX				
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.	HUB:		No		
** Wildcat Cranes deemed non-responsive for failure to complete required price form.	Co-	Co-op:		Yes	
Description	Rental Period	Rental Period QTY.		Total Charge	
Section 2: Light Duty Equipment					
Item 4: Walk Behind Trencher 24"	4: Walk Behind Trencher 24" Daily 3 Days		No Bid	No Bid	
Ditch Witch #1030 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid	
	Monthly	1 Month	No Bid	No Bid	
	Delivery/ Pickup Roundtrip		No Bid		
		Total	No Bid		
Brand Model of Equipment Bid:		No Bid			
Item 5: Towable Pressure Washer	Daily	3 Days	No Bid	No Bid	
Mi-T-M AW-9000900021 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid	
	Monthly	1 Month	No Bid	No Bid	
	Delivery/ Pickup Roundtrip No Bid			Bid	
	Total		No	Bid	
Brand Model of Equipment Bid:	No Bid				
Discount off for itmes not specified:	10%				

Primary Award: HercRentals, Inc., Kirby-Smith Machinery,

Star Tractor Ltd.

Secondary Award: Associated Supply Company, Kirby-Smith

Machinery, ROMCO Equipment Co, LLC

Alternate Award: Associated Supply Company, HercRentals,

P - Primary Award S - Secondary Award A - Alternate Award	Star Tractor Ltd. Fort Worth, TX			
* Holt Texas, Ltd. and Ergon Asphalt & Emulsions, Inc submitted a no-bid.	HUB:		No	
** Wildcat Cranes deemed non-responsive for failure to complete required price form.	Co-op:		Yes	
Description	Rental Period	Rental Period QTY.		Total Charge
Section 2: Light Duty Equipment				
Item 4: Walk Behind Trencher 24"	em 4: Walk Behind Trencher 24" Daily 3 Da		No Bid	No Bid
Ditch Witch #1030 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pickup Roundtrip		No Bid	
		Total	No Bid	
Brand Model of Equipment Bid:	No Bid			
Item 5: Towable Pressure Washer	Daily	3 Days	No Bid	No Bid
Mi-T-M AW-9000900021 or Approved Equal	Weekly	2 Weeks	No Bid	No Bid
	Monthly	1 Month	No Bid	No Bid
	Delivery/ Pickup Roundtrip No Bid			Bid
	Total		No Bid	
Brand Model of Equipment Bid:	No Bid			
Discount off for itmes not specified:	0%			

Primary Award: HercRentals, Inc., Kirby-Smith Machinery,

Star Tractor Ltd.

Secondary Award: Associated Supply Company, Kirby-Smith

Machinery, ROMCO Equipment Co, LLC

Alternate Award: Associated Supply Company, HercRentals,